FHERHRRET RS KEYHR

HHI6E 115086 BT E 18, 234 kg
3 AR E AR 6,134 ke
e BRE e EEAE EX BRENE AR
(kg) (kg) =iE & =8

F<CHEEA 2,000 (&Y il 1,000 2,538 1,620 1,188
AxtER 5| IR 1,000 — 1,188 —
L 5 |€Y 0 — —- —
A ER S| RIGE 50 1,296 1,188 1,080
s 14 (€Y 0 - —— —
AT ER S| =1 14 1,620 1,404 1,296
LWhL 920 (&Y 0 — — —
FAxtER 5| tiEE 90 1,404 1,188 1,080
[TE5H 250 [(EY 0 -— _— -—
AT ER S| ERER 250 3, 402 1,620 1,296
LA 30 |#Y 0 — — —
AT ER S| TR 30 -—= 1,728 -—
ANSFN 1,500 |&Y 0 — — —
FAxTER 5| =31 1,500 1,026 759 540
SAE 200 |#Y 0 - —— —
AT ER S| dtiEE 200 3,780 1,404 648
i 2,000 (=A% - 2,000 — -— —-—




FHERHRRET RS KEYHR

HHI6E115088 RERFERE 18, 234 kg
REA REHESE 3,400 kg
F&E BT EE SEEAE FEH R E BRSE &8
(kg) (kg) =iE & =8

AU 500 [&VY 0 — —— —
RS E] HAR 500 4,536 3,780 2,160
N 200 |&Y 0 — — —
FAxtEL S| B 200 8,100 4,104 2,484
B=5 200 |&Y 0 — —__ _
GRS E] AR 200 2,160 1,944 1,620
=1t 300 |&Y 0 — — —
FAxtEL S| i 300 2,160 1,512 1,188
[F=TH 400 | &Y 0 — " .
GEFSiEE] i 400 6, 480 4,104 1,404
LAY 300 &Y 0 — — —
GEFSiEE] EHE 300 4, 860 2,160 1,296
=0 0 (&Y 0 — — —
B AR B 0 — — —
oA ERA 1,500 |&A:% — 1,500 — — -




FHERHRRET RS KEYHR

THI6F]15085 RIRFEHE 18,234 kg
BEFmMI&G REHEESE 8, 700 kg
I BRFEHES TEAE FEH HRFEE BRcE4E
(kg) (kg) =iE & =8

ST 300 |&Y 0 — — —
HE*TER S| dtiEE 300 2,420 1,620 1,080
EXH 50 |t&UY 0 — — —
HExtERE| dtimE 90 3,240 2,430 1,620
e AR 50 |[EUY 0 — -— —
izpopiE] dbiEE 50 11, 880 7,560 3,240
BRTF 100 (€Y 0 - —— ——
HEXTES| fahE 2 100 3,780 2,754 1,728
y::Bi 2,700 (+EVY 0 — S —
HE*TER S| EHEHE 2,700 2,376 1,620 486
Af-C 100 |&Y 0 — — —
HE*TER S| IR 100 3, 456 3,240 3,024
BE S 2,700 |&UY 0 S - —
HEXTE S| R 2,700 1,300 950 595
hoEFMMT 2,700 |&hH% — 2,700 — - —




